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Model Test Paper 2018-19
H'S% 2Ae TUT 2018-19
i<t SA2/ Vili- SA2
aIfE3(Mathematics)
B nid:80/ MM:80 ANt 3 W2/ Time: 3 Hrs
Agdt &2/ Imp. Note ' o o
.38 yrs 1 ¥R 8 IF ¥ nig e B 0% |
Part A: All questions from 1 to 8 carry one mark each.
223-MYyAE 9B R 16 Iq T nix =B I5 |
Part B: All questions from 9 to 16 carry two marks each.
3.3-T YRS 17T B 24 3 T nix B T3 | fegst ymst &8 faR & 35 ypst fe'g
niegat g Jqft | ‘
Part C: All questions from 17 to 24 carry four marks each. There will be internal
choice in three questions
4. m—nwzs?iazsﬁéﬁaeﬁmlwﬂﬁm&%ﬁ@gﬁ&ﬁaﬁ [
Part D: All questions from 25 to 28 carry Six marks each. There will be internal
choice in all questions

131 B( Part A)
L YHS € | mid I (Each question carries one mark)
1. W%W—mﬁﬁémﬁﬁwm%@m%@ﬁ#?bmwﬁél

Give examples of two things from your surroundings whose shape is a quadrilateral.

2. 2y nf3 22xy T AT JEIES UST A9
Find common factor of 2y and 22xy.

3. 183 fo39 o fl3 yItes 3791 Sarerg 39
What is the percentage of shaded portion in the given fiqure. ‘.

(3) 25% (b)50% (c) 75% (d) 100% |/
4. ﬂfe“amﬁa?ﬁf&wafﬁﬂérfsa@r@rﬁaaﬂwmﬁ@%l W fom #ftmr s foufos 39
3 IHGT JeN?

Iam a number whose unit place is always even. By which number | will definitely be divisible.
(@2 (b) 3 (c) 4 (d)8

5. o syyfgxergeta

Coefficient of x in expression 5xy is
6. (a+b)?2=ag?+ + b2

7. B uz ? 6 Tma @ T8 (H/AmS)
A cube has six faces. ( True/False)

8. nifE3 ¥ U393 T g9 2x( BaEt+ Jzeh) ger d| (AdtamI)
Formuia to find the area of a rectangle is 2x( length + breadth). True/False)
87T »f (Part B)
99 yms T 2 nid I: (Each question carries two marks)
9. W 93997 ufgeg I of Het Aditntt gAmet s9eg w3 79 O TuaE o% ) nE
.......................... € &TH &8 "o mier 31 7Y 92 fegge N = 4 1.

| belong to quadrilateral family. All of my sides are equal and all my angles are right angles. | am
known as . Both of my diagonals are

)



10. f&3 98 »u3 § yIins ffe wes: 34
Convert the given ratio into percentage: 3:4.
11. 73 U3 &9
Add the following expressions:
2p?q? - 3pq + 4, 5+7pq - 3p%q?
12. J&t St nifgSingt 1&5° famer d39es =0 39

Which of the following figure has greater area?
5 A4 7 RH

4 7H

fose-1 foz9-2
13. &3 foniaat @ greads 9598

Factorise the following expression:
5x2y — 15xy?

14. J5 &5 73 f&g A3 Bus a5

Find the value of A and B in the following addition:
‘A
+A
A
BA
15. f€« =901 & 99 a9 faAet ¥ 3 5.6 AH 52

Construct a square whose one side is 5.6 cm long.

16. €& SH € 5 3@x M3 9 a9 T5 1 fore finedt & forest uzr 551
A solid has 5 faces and 9 edges. Find the number of vertices it has?
91 € (Part C)

I9 YRS ¥ 4 nid J: (Each question carries four marks)

17. IR AHT3T 53937 € € AR J& T migu3 3:2 I FH3J 93987 © AS Q& & HY UsT &9 |
Two adjacent angles of a parallelogram are in the ratio of 3:2. Find all the angles of this
parallelogram.

At
&St It mirfgt = @R a1t 5 mat fiss &J:(Match the given figure with its properties)

( Its all four sides and four angles are equal.)

8 ug e g 3 midE 3 IHESTHS 99T T5 1 (All four sides are
equal. two diagonals are unequal but they are perpendicular
3, o . bisectors of each other.)

H&HY 37<t ¥ o*s fEa 737 ANTST Jer 31 (Only one pair of
opposite is equal.)
4. " ferentt sant gret s Joor a8 w3 T3 3= M 9
S J& | (Its adjacent sides are equal and all the four angles are right
angles.)

V)



18.

19.

20.

21.

22.

23.

24.

93937 (ABCD) & 38" &3 iR 9 AB=4.5cm, BC=5.5cm, CD=4cm, AD=6cm w3
AC=7cm J= | .

Construct a qudrilatera] ABCD in which AB=4.5cm, BC=5.5cm, CD=4cm, AD=6¢cm and
AC=7cm .

f€x Az v ¥ 15,500§uéﬁﬁ|%ﬂzﬁm§4soguémaaéfgn§” 15 % &3 3 Afgnr
AeT 3 | ferer v Ws usT &9
Price of an item was Rs 15500. Rs 450 were spent on its repair and then it was sold at 15% profit. Find
the selfing price of this item.

i
feat gomms 2hi & o iy B9 93 B 9 10 et e iz orfirs gt & 857 & i & 40%
A 37 87 3 3 o5 i3 Mo 939 |
A football team has won 10 matches out of the total matches played. If the percentage of matches
won is 40% then find the total number of matches played by this team.

JEBSH U™ I
Find the multiplication:

(§ xy) x (;—s xy)

Draw top view, front view and side view of the following solids:

4m

A9d 4 Hies Bt @8 g Tgaray gon @B and
ni3 2 HieT I3Et 8 B nrfesrarg T9n @@ and
€ SIH ¢ TAT HE ANS 439H ¥ quF o 7993
It 9 3t nrfegrag ang < doet & 30

A room with square floor is 4m long and another room with rectangular floor is 2m wide. Both the
floors require piece of cloth saving same area. find the length of the room with rectangular floor.

&3 fonfaa @ greads 56
Factorize the given expression:
49x2- 36

73125, 3 TR gen I, R z Ra vix 3, 3tz & if® off F A 37

if 3 is a factor of a number 3125 where z is a digit then what would be the value of z.
At

(1) 97396 &t 4 &% IHUGST T UFIH T |

Check the divisibility of 97396 by 4.

(2) 72974 € 11 5% IHGAIT & UIIH TS|

Check the divisibility of 72974 by 11.

X



grar A{Part D)

I YA 6 mid ¥ 3: (Each question carries six marks)

25. 12600 9: T 2 H'® € &gt 10% A& €9 &% fHRT3 fonrm uzr o9 7 13 fonim Aesr geer
REd
find the amount and compound interest on 12600 rs for 2 years at 10% per annum compounded
annually.

qar
(i) 40 Ffonif T AEUT I U3T Far 1 25% F9 Teus I3 UAT SO 95 1UST &5
fa fs #font § gowm A5 ure aF 31
From the survey of 40 Children, it was revealed that only 25% children like to play
football. Find the number of children who donot like Football.

(ii) fex fenast & 35ug &9 10% O ger 317 ATt 5 3aurg 1,54,00 qu I 3 et
HS 3I&HTT U™ aF |

A man got 10% increase in his salary. If his new salary is Rs 1,54,000, find his original
salary?

26. Bo< IIANA T QUUE 5% I fHhmit T 1® usT 39
Using appropriate identities find the value of the followimg:
a. (102)?
b. 78 x &2

HIS 32 (x+y) ( x2-xy+y?)
Simplify: (x+y) (x*-xy+y? )

27. fe3 2 fo39 fg fom 39 &yt T
A € 939e® frier 3 »i3 flar? Jem /’"“’

In the given figure which box has larger . 7%
lateral surface area?

—7em— —7 cm—?

14%%?8%%@%6(1%@3@3&%?5%3@
WEAT A3 J 20 AN nidaformr T 9y ams T F:—,’%!T
gatfenr famr 31 fom 2z T wifezs usT &9 dow | J"l

A rectangular paper of width 14 cm is rolied along l )
its width and a cylinder of radius 20 cm if formed. Find the volume of the cylinder.

(take m=22/7)

26 e

28. fenlA= q2-10q +21 ¥ Feads T8
Factorize : g°-10q +21

AI® I3 5pq(p*-q2)+ 2p(p+q)
Simplify: 5pa(p?-q?)+ 2p(p+q)

(&)



